
＊　□にあてはまる不等号を書きましょう。

⑥
１.９ ２.０ ２.１

⑤７ｍ６０ｃｍ＝ ｍ

④３.７２ｍ＝ ｍ cｍ

③４００cｍは， ｍです。

②１Lと ｄLで，１.８Lです。

＊　□にあてはまる　数を書きましょう。

①３ｄLと０.５ｄLで， ｄLです。

③ ０.６ （  　　　 ） ④ ９ （　　　　  ）

＊　次の数は，０.０１を何こ集めた数ですか。

① ０.０２ （  　　　 ） ② ０.４７ （　　　　 ）

③ ３.４ （  　　  ） ④ ６ （　　　　）

① ０.８ （　　　 ） ② １.３ （　　　　）

＊　次の数は，０.１を何こ集めた数ですか。

５.４０９③ ６.３２ ６.３２５ ④ ５.４３

２.０３

No.５５

４年　組　　番　名前（　　　　　　　　　　　　　　　　　　　　　）

① ２.０１ ２.１ ② ２.３



＊　□にあてはまる不等号を書きましょう。

８.１

ｍ

⑥
７.９ ８

⑤９ｍ７ｃｍ＝

④８.３ｍ＝ ｍ cｍ

ｃｍで，３.７４ｍです。

③２０００ｍは， ｋｍです。

②３ｍと

＊　□にあてはまる　数を書きましょう。

①５ｄLと０.２ｄLで， ｄLです。

③ ２.７ （  　　　 ） ④ ８ （  　　　 ）

（  　　　 ） ② ０.６３ （  　　　 ）

＊　次の数は，０.０１を何こ集めた数ですか。

① ０.０４

③ ７.２ （  　　　 ） ④ ４ （  　　　 ）

① ０.５ （  　　　 ） ② １.８ （  　　　 ）

＊　次の数は，０.１を何こ集めた数ですか。

③ ４.３２ ４.３０２

② ２.３３ ２.３２

④ ７.１９ ７.０８９

① １.４２ １.４３

No.５６

４年　組　　番　名前（　　　　　　　　　　　　　　　　　　　　　）


